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1-here are three Questions. Answer all questions. All questions carry equal marks. Programmable calculators

are not allowed. Do not write oil tllis questions paper. The symbols have their usual meaning. Assume reasonable
val ucs for any in issing ilrt-ormation

1 (a)

( b )

Discuss tIle boundary conditions related to the following support conditions:
i) tlxcd support, ii) end rollal' support. iii) rt)IIar support ill between two other rc)IIar
supports. iv) i11tel-naI hinge,

Develop cquatiolr ol'dcllcction at nlidspan of the beam in I;igurc I. ’I-he beam has

span I .. colrsta11t I'll. alla loading of w=mx+c (x=0 at A and x=L at B).
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(Figure 1 )

2(a) An 8-meter beam has two loads acting on it as showlr on Figure 2. Find defle(..tions
at point B and D. L = 200 kN/nlm2. 1 = 4000 x 1 04 mm4. use a}TV ///e//70c/.
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(Figure 2)

A 5-In l011g silnply supported benIn is supported at two ends and carries a trdpizoidal
It)ad o1'5 kN/111 (at left e11d; lowest value) and 1 0 kN/m (at right end: maximum value).
I' Intl thc lnaxinrulr1 dc11ection using si lrgllILll- itv l1111c IiI )11

A beam o1' 30-ft is supported by two llxcd supports at ends. Find dencction at the
nr ids;pan il' tllcrc is a do\vnw,u-d 40-kip lo,Id acting at 20_ft distance of lell support.
USe CItI\' IItt,IIIOd . E 1= 5000 k-ft2.

A concentrated load of 50 kip is acting at m idspan ofa 25-ft simply supported beam
which is addition,IIly loaded over the whole span with uniformly distributed load of
2 kip/ft. It=29000 1 isi and 1=250 in4. Find maximum denection. Use any 111et Ilt)tI .
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